AN KB R AT 3 FNER T
§ 15 | %ffgﬁ 6/11  7/10 | 8/21 12/10 ¥ R TH R
AUl 25.0 29.0 31.0 8.0 12 31.0 18.9 4.0
ZKIE. 23.5 26.5 31.0 15.0 12 31.0 20. 3 10.0
1| — s 1001 /m1 0.0 0.0 0.0 0.0 12 0.0 0.0 0.0
2 | KiGHE K HY [=3kd =3 =3 [=3kd 12 fa [=3kd (=33
3 N IR ONFE DS 0. 003 <0. 0003 — — — 1 — <0.0003 —
4 [KEB K OZEDILED 0. 0005 <0. 00005 — — — 1 — <0. 00005 —
5 [tV R OVFEDLE Y 0.01 <0. 001 — — — 1 —<0.001 —
6 |80 K O DILEW 0.01 <0. 001 — — — 1 —  <0.001 —
7T e EBRORZFDILEW 0.01 <0. 001 — — — 1 — <0.001 —
8 |57 v 2MbEW 0. 02 <0. 002 — — — 1 —<0.002 —
9 |HEfEfEREE R 0. 04 <0. 004 — — — 1 —<0.004 —
10 |YTALEA F v RO AR 7> 0.01 <0. 001 — — <0. 001 4 <0.001 <0.001 <0.001
11 |fHFRRE % 32 K OV i A ER RE 25 37 10 0.5 — — — 1 — 0.5 —
12| 7 v M OZEDILEY 0.8 0.07 — — — 1 — 0.07 —
13| AR T E K OZEDILEY 1 0.03 — — — 1 — 0.03 —
14 | A R = 0. 002 <0. 0002 — — — 1 —  <0.0002 —
151, 4=V %}~ 0. 05 <0. 001 — — — 1 — <0.001 —
16 [V AR O v A-1, 2=V Jenzfly 0. 04 <0. 002 — — — 1 —<0.002 —
17|V Junphy 0. 02 <0. 001 — — — 1 — <0.001 —
18|77 nnxfvy 0.01 <0. 001 — — — 1 — | <0.001 —
19|} yunzFLy 0.01 <0. 001 — — — 1 — <0.001 —
20 [~ vty 0.01 <0. 001 — — — 1 — <0.001 —
21 | e 0.6 0.15 — — 0. 08 4 0. 15 0.11 0.07
22 | /oo fefR 0. 02 <0. 002 — — <0. 002 0 4 <0.002 <0.002 <0.002
23 |7k 0. 06 0.019 — — 0. 0.010 0 4 0.024 0.016/ 0.010
24 |V JonfEfe 0.03 <0. 002 — — 0. <0. 002 0 4 0.003  0.002 <0.002
25 v 7 wesmnihy 0.1 0. 003 — — 0. 0. 003 0 4 0.004  0.003  0.002
26 | R &M 0.01 <0. 001 — — 0. <0. 001 0 4 <0.001 <0.001 <0.001
27 [ M) rmpgy 0.1 0. 031 — — 0. 0. 020 0 4 0.040  0.027  0.018
28 | M) /oo fEfR 0.03 0.011 — — 0. 0. 008 0 4 0.016 0.011  0.008
29|77 &y Junipy 0.03 0. 009 — — 0. 0. 007 0 4 0.012  0.009  0.006
30 |77 nEHVA 0. 09 <0. 001 — — <0. <0. 001 <0 4 <0.001 <0.001 <0.001
31 [FVAT VT BN 0. 08 <0. 001 — — 0. <0. 001 <0 4 0.002  0.001 <0.001
32 |HLEh K O DAL AW 1 <0. 005 — — — 1 — <0.005 —
33|TV3zh e O DAL EWY) 0.2 0.07 — — 0. 0. 04 4 0.07 0. 06 0. 04
34 B O FE DL EW 0.3 <0.01 — — — 1 — <0.01 —
35 |8 & N DILE W) 1 <0. 005 — — — 1 —  <0.005 —
36 [FMUL K O DILEY 200 10 — — — 1 — 10 —
37 v v R O F DAk EW 0.05 <0. 001 — — — 1 —  <0.001 —
38 [ME bt 200 10 9 11 10 12 12 10 9
39 |f# £ (Ca, Mg) 300 43 — — — 1 — 43 —
40 [ZRFE TR 500 89 — — 97 4 97 90 87
41 B4 S miE PEA 0.2 <0. 02 — — — 1 — <0. 02 —
A2 (V7 2k A3y 0. 00001 0. 000002 <0. 000001 |<0. 000001 — 410, 000002 0. 000001 <0. 000001
43 [2=FF AR VA= 0. 00001 0. 000001 0. 000001 0. 000002 — 40. 000002 0. 000002 0. 000001
44 |FEAX Y SIS 0. 02 <0. 002 — — — 1 —  <0.002 —
45 7z ) -V 0. 005 — <0. 0005 — — — — — 1 — | <0. 0005 —
46 | HEEYE (TOC) 3 7 0.8 0.7 0.8 .8 0.6 7 12 0.9 0.7 0.6
47 |pH 5.8-8.6 .6 7.6 7.6 7.7 .6 7.7 7 12 7.7 7.6 7.6
48 Bk CVASANE Y2490 Bl BELL E¥LL e L He L e L 12 B L B L Bl
49 |[R& L ASANE YA Bl RELL E¥LL 5 L B e L B 72 L 12 B L B U B L
50 |8 5 .5 <0.5 <0.5 <0.5 .5 <0.5 .5 12 <0.5 <0.5 <0.5
51 |V 2% .1 <0.1 <0.1 <0.1 .1 <0.1 .1 12 <0.1 <0.1 <0. 1
PR IRFFR A MR R 5 0. 35 0.35 0. 30 5 0. 35 0 12 0. 40 0.33 0.25




AN KB R AT 3 /NER TR R
§ 15 | %ffgﬁ 6/11  7/10 | 8/21 | 9/10 12/10 ¥ R TH R
AUl 27.0 29.0 32.0 32.0 12 32.0 19.9 4.0
ZKIE. 24.0 27.0 32.5 32.0 12 32.5 20. 8 11.0
1| — s 1001 /m1 0.0 0.0 0.0 0.0 12 4.0 0.3 0.0
2 | KiGHE K HY [=3kd =3 =3 =3 12 fa [=3kd (=33
3 N IR ONFE DS 0. 003 <0. 0003 — — — 1 — <0.0003 —
4 [KEB K OZEDILED 0. 0005 <0. 00005 — — — 1 — <0. 00005 —
5 [tV R OVFEDLE Y 0.01 <0. 001 — — — 1 —<0.001 —
6 |80 K O DILEW 0.01 <0. 001 — — — 1 —  <0.001 —
7T e EBRORZFDILEW 0.01 0.001 — — — 1 — 0.001 —
8 |57 v 2MbEW 0. 02 <0. 002 — — — 1 —<0.002 —
9 |HEfEfEREE R 0. 04 <0. 004 — — — 1 —<0.004 —
10 |YTALEA F v RO AR 7> 0.01 <0. 001 — — <0.001 <0. 001 4 <0.001 <0.001 <0.001
11 |fHFRRE % 32 K OV i A ER RE 25 37 10 0.6 — — — 1 — 0.6 —
12| 7 v M OZEDILEY 0.8 0. 09 — — — 1 — 0. 09 —
13| AR T E K OZEDILEY 1 0. 05 — — — 1 — 0. 05 —
14 | A R = 0. 002 <0. 0002 — — — 1 —  <0.0002 —
151, 4=V %}~ 0. 05 <0. 001 — — — 1 — <0.001 —
16 [V AR O v A-1, 2=V Jenzfly 0. 04 <0. 002 — — — 1 —<0.002 —
17|V Junphy 0. 02 <0. 001 — — — 1 — <0.001 —
18|77 nnxfvy 0.01 <0. 001 — — — 1 — | <0.001 —
19|} yunzFLy 0.01 <0. 001 — — — 1 — <0.001 —
20 [~ vty 0.01 <0. 001 — — — 1 — <0.001 —
21 | e 0.6 0. 10 — — 0. 08 4 0.10 0. 08 0. 06
22 | /oo fefR 0. 02 <0. 002 — — <0.002 <0. 4 <0.002 <0.002 <0.002
23 |7k 0. 06 0. 020 — —0.028 0. 0. 4 0.028 0.018  0.011
24 |V JonfEfe 0.03 <0. 002 — — <0.002 <0. 0. 4 0.004  0.003 <0.002
25 v 7 wesmnihy 0.1 0. 004 — —0.005 0. 0. 4 0.005 0.004  0.001
26 | F. Mk 0.01 <0. 001 — — <0.001 <0. 0. 4 <0.001 <0.001 <0.001
27 [ M) rmpgy 0.1 0. 034 — —0.046 0. 0. 4 0.046  0.031  0.019
28 | M) /oo fEfR 0.03 0. 009 — —0.011 0. 0. 4 0.011 0.009  0.006
29|77 &y Junipy 0.03 0.010 — —0.013 0. 0. 4 0.013 0.009  0.005
30 |77 nEHVA 0. 09 <0. 001 — — <0.001 <0. <0. 4 <0.001 <0.001 <0.001
31 [FVAT VT BN 0. 08 <0. 001 — —0.002 <0. 0. 4 0.002  0.001  0.001
32 |HLEh K O DAL AW 1 <0. 005 — — — 1 — <0.005 —
33|TV3zh e O DAL EWY) 0.2 0. 04 — — 0. 04 0. 4 0. 04 0. 03 0. 02
34 B O FE DL EW 0.3 <0.01 — — — 1 — <0.01 —
35 |8 & N DILE W) 1 <0. 005 — — — 1 —  <0.005 —
36 [FMUL K O DILEY 200 10 — — — 1 — 10 —
37 v v R O F DAk EW 0.05 <0. 001 — — — 1 —  <0.001 —
38 [ME bt 200 10 8 12 10 12 15 11 8
39 |f# £ (Ca, Mg) 300 41 — — — 1 — 41 —
40 [ZRFE TR 500 100 — — 109 4 122 109 100
41 B4 S miE PEA 0.2 <0. 02 — — — 1 — <0. 02 —
A2 (V7 2k A3y 0. 00001 0. 000001 <0. 000001 <0. 000001 /0. 000001 410. 000001 /0. 000001 |<0. 000001
43 |2- WAV A= 0. 00001 0. 000001 |<0. 000001|0. 000002|<0. 000001 410, 000002 0. 000001 <0. 000001
44 |FEAX Y SIS 0. 02 <0. 002 — — — 1 —  <0.002 —
45 7z ) -V 0. 005 — <0. 0005 — — — — — — 1 — | <0. 0005 —
46 | HEEYE (TOC) 3 .5 0.6 0.5 0.8 0.7 .6 .5 .5 12 0.8 0.6 0.5
47 |pH 5.8-8.6 .6 7.7 7.7 7.7 7.7 7 7 .6 12 7.7 7.7 7.6
48 Bk CVASANE Y2490 B L AL LU E¥ELRL E¥4LL B L e L 12 B L B L Bl
49 |[R& L ASANE YA Boagir U Bwia L BEAaL Byl § L B e L B 72 L 12 B L B U B L
50 |8 5 .5 <0.5 <0.5 <0.5 <0.5 .5 .5 .5 12 <0.5 <0.5 <0.5
51 |V 2% .1 <0.1 <0.1 <0.1 <0. 1 .1 .1 .1 12 <0.1 <0.1 <0. 1
PR IRFFR A MR R 0 0.25 0.35 0.25 0.20 0 30 0 12 0.35 0. 30 0.20




T RN6AE B K B R R USEENEI S IPN

§ 15 | %ffgﬁ 4/10 | 5/15 | 6/11  7/10  8/21  9/10  10/9 | 11/13 | 12/10 = 1/16 = 2/19  3/11 || E%  Ew Wy Ik
AUl 12.0 20.5 27.0 28.0 32.0 32.0 24.5 19.5 8.0 5.0 5.5 13.0 12 32.0 18.9 5.0
ZKIE. 13.0 22.0 21.0 28.0 31.0 34.0 28.5 22.5 15.0 9.5 10. 0 13.0 12 34.0 20. 6 9.5
1| — s 1001 /m1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 12 0.0 0.0 0.0
2 | KiGHE K HY =3 =3 [=3kd =3 =3 =3 =3 =3 [=3kd fa Fe (=X} 12 fa [=3kd fa
3 N IR ONFE DS 0. 003 — — <0.0003 — — — — — — — — — 1 — <0.0003 —
4 [KEB K OZEDILED 0. 0005 — — <0. 00005 — — — — — — — — — 1 — <0. 00005 —
5 [tV R OVFEDLE Y 0.01 — — <0.001 — — — — — — — — — 1 —<0.001 —
6 |80 K O DILEW 0.01 — — <0.001 — — — — — — — — — 4 —  <0.001 —
7T e EBRORZFDILEW 0.01 — — 0.001 — — — — — — — — — 1 — 0.001 —
8 |57 v 2MbEW 0. 02 — —<0.002 — — — — — — — — — 1 —<0.002 —
9 |HEfEfEREE R 0. 04 — — <0.004 — — — — — — — — — 1 —<0.004 —
10 |YTALEA F v RO AR 7> 0.01 — — <0.001 — — <0.001 — — <0.001 — — <0.001 4 <0.001 <0.001 <0.001
11 |fEfeREEE 5 N QNI AR e 22 3R 10 — — 0.6 — — — — — — — — — 1 — 0.6 —
12| 7 v M OZEDILEY 0.8 — — 0. 09 — — — — — — — — — 1 — 0. 09 —
13| AR T E K OZEDILEY 1 — — 0. 05 — — — — — — — — — 1 — 0. 05 —
14 | A R = 0. 002 — —  <0.0002 — — — — — — — — — 1 —  <0.0002 —
151, 4=V %}~ 0. 05 — — <0.001 — — — — — — — — — 1 — <0.001 —
16 [V AR O v A-1, 2=V Jenzfly 0. 04 — — <0.002 — — — — — — — — — 1 —<0.002 —
17|V Junphy 0. 02 — — <0.001 — — — — — — — — — 1 — <0.001 —
18|7h7/nnzFLy 0.01 — — <0.001 — — — — — — — — — 1 — <0.001 —
19|} yunzFLy 0.01 — — <0.001 — — — — — — — — — 1 — <0.001 —
20 [~ vty 0.01 — — <0.001 — — — — — — — — — 1 — <0.001 —
21 | e 0.6 — — 0.11 — — 0. 08 — — 0. 06 — — 0. 06 4 0.11 0. 08 0. 06
22 | /oo fefR 0. 02 — —<0.002 — — <0.002 — —<0.002 — — <0.002 4 <0.002 <0.002 <0.002
23 |7k 0. 06 — — 0.019 — —0.027 — — 0. 009 — —0.011 4 0.027 0.017  0.009
24 [V JuufEfg 0.03 — —<0.002 — — <0.002 — —<0.002 — —0.004 4 0.004  0.003 <0.002
25 v 7 wesmnihy 0.1 — — 0. 004 — —0.005 — — 0. 004 — —0.002 4 0.005 0.004  0.002
26 | F. Mk 0.01 — — <0.001 — — <0.001 — — <0.001 — — <0.001 4 <0.001 <0.001 <0.001
27 [ M) rmpgy 0.1 — — 0.033 — —0.045 — — 0.021 — —0.018 4 0.045 0.029  0.018
28 | M) /oo fEfR 0.03 — — 0. 009 — —0.011 — — 0. 006 — —0.009 4 0.011 0.009  0.006
29|77 &y Junipy 0.03 — — 0.010 — —0.013 — — 0. 008 — —0.005 4 0.013 0.009  0.005
30 |77 nEHVA 0. 09 — — <0.001 — — <0.001 — — <0.001 — — <0.001 4 <0.001 <0.001 <0.001
31 |fvATVT e 0. 08 — — <0.001 — —0.003 — — <0.001 — —0.001 4 0.003 0.002 <0.001
32 |HLEh K O DAL AW 1 — — 0. 007 — — — — — — — — — 1 — 0. 007 —
33|TV3zh e O DAL EWY) 0.2 — — 0. 04 — — 0. 04 — — 0. 02 — — 0. 02 4 0. 04 0. 03 0. 02
34 B O FE DL EW 0.3 — — <0.01 — — — — — — — — — 1 — <0.01 —
35 |8 & N DILE W) 1 — —  <0.005 — — — — — — — — — 1 —  <0.005 —
36 [F ML KR O DAY 200 — — 10 — — — — — — — — — 1 — 10 —
37|w/h RO DALEY) 0.05 — — <0.001 — — — — — — — — — 1 — <0.001 —
38 [ME bt 200 9 10 10 8 12 10 11 10 11 13 15 13 12 15 11 8
39 [ ) (Ca, Mg) 300 — — 41 — — — — — — — — — 1 — 41 —
40 [ZRFE TR 500 — — 93 — — 108 — — 114 — — 99 4 114 104 93
41 B4 S miE PEA 0.2 — — <0. 02 — — — — — — — — — 1 — <0. 02 —
A2 (V7 2k A3y 0. 00001 — — 0. 000001 <0.000001|<0. 000001|0. 000001 — — — — — — 410. 000001 /0. 000001 |<0. 000001
43 (2= A F WA IR WAtV 0. 00001 — —10. 000001 <0. 000001 0. 000001 |<0. 000001 — — — — — — 410, 000001 0. 000001 <0. 000001
44 |FEAX Y SIS 0. 02 — —  <0.002 — — — — — — — — — 1 —  <0.002 —
45 7z ) -V 0. 005 — — | <0. 0005 — — — — — — — — — 1 — | <0. 0005 —
46 | HEEYE (TOC) 3 0.4 0.6 0.6 0.5 0.8 0.7 0.6 0.5 0.5 0.5 0.5 0.7 12 0.8 0.6 0.4
47 |pH 5.8-8.6 7.6 7.7 7.6 7.7 7.7 7.7 7.6 7.7 7.7 7.6 7.6 7.6 12 7.7 7.7 7.6
48 |k machn FE AL BE el Bl Bl Bl Bl Bl BEal BESL BEal BEel BEel 12 Bog7a L BEe L BEel
49 |[R& sEcre BER L BE L BELL BELL BEa L BEh L BELR LU BRELRL BRELSLU BRELRL BELRL BESRL 12 8L Byl Byl
50 |8 5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 12 <0.5 <0.5 <0.5
51 |V 2% <0.1 <0.1 <0.1 <0.1 <0.1 <0. 1 <0.1 <0. 1 <0.1 <0.1 <0.1 <0.1 12 <0.1 <0.1 <0. 1
BRI FE R e 35 0.25 0. 25 0. 25 0. 20 0. 20 0.15 0. 20 0. 25 0. 25 0. 25 0. 20 0. 30 12 0. 30 0.23 0.15




T FN6AFE K E AR A A R RIIVEHT =1

§ 15 | %ffgﬁ 4/10 | 5/15 | 6/11  7/10  8/21  9/10  10/9 | 11/13 | 12/10 = 1/16 = 2/19  3/11 || E%  Ew Wy Ik
AUl 16.0 23.0 28.0 29.0 32.0 31.0 20.5 17.5 8.0 6.0 6.0 12.0 12 32.0 19. 1 6.0
ZKIE. 12.0 20.5 24.0 27.5 33.5 32.0 28.0 23.0 17.0 10.5 10.5 12.0 12 33.5 20. 9 10.5
1| — s 1001 /m1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 12 0.0 0.0 0.0
2 | KiGHE K HY =3 =3 [=3kd =3 =3 =3 =3 =3 [=3kd (=3 Fe (=X} 12 fa [=3kd fa
3 N IR ONFE DS 0. 003 — — <0.0003 — — — — — — — — — 1 — <0.0003 —
4 [KEB K OZEDILED 0. 0005 — — <0. 00005 — — — — — — — — — 1 — <0. 00005 —
5 [tV R OVFEDLE Y 0.01 — — <0.001 — — — — — — — — — 1 —<0.001 —
6 |80 K O DILEW 0.01 — — <0.001 — — — — — — — — — 1 —  <0.001 —
7T e EBRORZFDILEW 0.01 — — 0.001 — — — — — — — — — 1 — 0.001 —
8 |57 v 2MbEW 0. 02 — —<0.002 — — — — — — — — — 1 —<0.002 —
9 |HEfEfEREE R 0. 04 — — <0.004 — — — — — — — — — 1 —<0.004 —
10 |YTALEA F v RO AR 7> 0.01 — — <0.001 — — <0.001 — — <0.001 — — <0.001 4 <0.001 <0.001 <0.001
11 |fEfeREEE 5 N QNI AR e 22 3R 10 — — 0.6 — — — — — — — — — 1 — 0.6 —
12| 7 v M OZEDILEY 0.8 — — 0. 09 — — — — — — — — — 1 — 0. 09 —
13| AR T E K OZEDILEY 1 — — 0. 05 — — — — — — — — — 1 — 0. 05 —
14 | A R = 0. 002 — —  <0.0002 — — — — — — — — — 1 —  <0.0002 —
151, 4=V %}~ 0. 05 — — <0.001 — — — — — — — — — 1 — <0.001 —
16 [V AR O v A-1, 2=V Jenzfly 0. 04 — — <0.002 — — — — — — — — — 1 —<0.002 —
17|V Junphy 0. 02 — — <0.001 — — — — — — — — — 1 — <0.001 —
18|7h7/nnzFLy 0.01 — — <0.001 — — — — — — — — — 1 — <0.001 —
19|} yunzFLy 0.01 — — <0.001 — — — — — — — — — 1 — <0.001 —
20 [~ vty 0.01 — — <0.001 — — — — — — — — — 1 — <0.001 —
21 | e 0.6 — — 0. 10 — — 0. 08 — — 0. 06 — — 0. 06 4 0.10 0. 08 0. 06
22 | /oo fefR 0. 02 — —<0.002 — — <0.002 — —<0.002 — — <0.002 4 <0.002 <0.002 <0.002
23 |7k 0. 06 — — 0.019 — —0.025 — — 0. 009 — —0.008 4 0.025  0.015  0.008
24 [V JuufEfg 0.03 — —<0.002 — — <0.002 — —<0.002 — —0.005 4 0.005 0.003 <0.002
25 v 7 wesmnihy 0.1 — — 0. 004 — —0.005 — — 0. 004 — —0.001 4 0.005 0.004  0.001
26 | F. Mk 0.01 — — <0.001 — — <0.001 — — <0.001 — — <0.001 4 <0.001 <0.001 <0.001
27 [ M) rmpgy 0.1 — — 0.033 — —0.043 — — 0.021 — —0.013 4 0.043  0.028  0.013
28 | M) /oo fEfR 0.03 — — 0. 009 — —0.010 — — 0. 006 — —0.009 4 0.010 0.009  0.006
29|77 &y Junipy 0.03 — — 0.010 — —0.013 — — 0. 008 — —0.004 4 0.013 0.009  0.004
30 |77 nEHVA 0. 09 — — <0.001 — — <0.001 — — <0.001 — — <0.001 4 <0.001 <0.001 <0.001
31 [FVAT VT BN 0. 08 — — <0.001 — —0.002 — — <0.001 — — <0.001 4 0.002  0.001 <0.001
32 |HLEh K O DAL AW 1 — — 0. 005 — — — — — — — — — 1 — 0. 005 —
33|TV3zh e O DAL EWY) 0.2 — — 0. 04 — — 0. 04 — — 0. 02 — — 0. 02 4 0. 04 0. 03 0. 02
34 B O FE DL EW 0.3 — — 0.01 — — — — — — — — — 1 — 0.01 —
35 |8 & N DILE W) 1 — —  <0.005 — — — — — — — — — 1 —  <0.005 —
36 [F ML KR O DAY 200 — — 10 — — — — — — — — — 1 — 10 —
37|w/h RO DALEY) 0.05 — — <0.001 — — — — — — — — — 1 — <0.001 —
38 [ME bt 200 9 10 10 8 12 10 11 10 11 13 15 13 12 15 11 8
39 [ ) (Ca, Mg) 300 — — 41 — — — — — — — — — 1 — 41 —
40 | Z& 58588 500 — — 98 — — 111 — — 114 — — 91 4 114 104 91
41 B4 S miE PEA 0.2 — — <0. 02 — — — — — — — — — 1 — <0. 02 —
A2 (V7 2k A3y 0. 00001 — — 0. 000001 <0.000001|<0. 000001|0. 000001 — — — — — — 410. 000001 /0. 000001 |<0. 000001
43 (2= A F WA IR WAtV 0. 00001 — — 0. 000001 <0.000001 0. 000002 <0. 000001 — — — — — — 410. 000002/0. 000001 |<0. 000001
44 |FEAX Y SIS 0. 02 — —  <0.002 — — — — — — — — — 1 —  <0.002 —
45 7z ) -V 0. 005 — — | <0. 0005 — — — — — — — — — 1 — | <0. 0005 —
46 | HEEYE (TOC) 3 0.5 0.6 0.7 0.5 0.8 0.7 0.6 0.5 0.5 0.5 0.5 0.7 12 0.8 0.6 0.5
47 |pH 5.8-8.6 7.6 7.7 7.7 7.8 7.7 7.7 7.7 7.7 7.7 7.6 7.6 7.6 12 7.8 7.7 7.6
48 |k machn FE AL BE el Bl Bl Bl Bl Bl BEal BESL BEal BEel BEel 12 Bog7a L BEe L BEel
49 |[R& sEcre BER L BE L BELL BELL BEa L BEh L BELR LU BRELRL BRELSLU BRELRL BELRL BESRL 12 8L Byl Byl
50 |8 5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 12 <0.5 <0.5 <0.5
51 |V 2% <0.1 <0.1 <0.1 <0.1 <0.1 <0. 1 <0.1 <0. 1 <0.1 <0.1 <0.1 <0.1 12 <0.1 <0.1 <0. 1
BRI FE R e 35 0. 20 0. 20 0.15 0. 20 0.15 0.15 0. 20 0. 20 0. 30 0. 25 0. 25 0. 25 12 0. 30 0.21 0.15




